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����� ������	� 
�����	���
 �� ����	��� ���	� ��	� �� ����� �� 	������������� �� 
	������� ��
������ ��� ��	������ ���
 ���� �� ���
 �� ��� �	��� ������� �� ������
 ��� ����	����� ����� ������
�� ����� ���	� �� ���	� ��� �� �	����� ������ �		���	 �� ��� ��	��� � �	���	� ���	 ������������
�� �������� ����������� �� 
	���� �� ���	 ������� ��	�� ���� ��� ������� �� ���������  ��� ��
�	��� ���������� �����	���� �� �� �!�� �� �	�����" �� �� ���� ������	� ������ �� ���� �����
�������	����� �	������������� �� ������� ��� ��	�� ���� ��� ����

#� 	���	��� $������	� #���%$�	�� &������� �� #���%'	������� &������! ���	 ����	 ��������
�����	� ��� 	����	���	� �� ����� ������ ����� ��� $������	 (�!�����
 ��� ��	�����	 �� ������
�� �������	����� )�	��%*��
 ��� ����� ������	� ����	�� ���������� �� ��� � ����� ���� �����	��� ��
�������������� �� �� �	������

#� ����� ��
������� �� 	���	���	 $������	� &��	��� +�����%,�� �� -�	�%.���/ *������ ���	
���	 �����	� ��������� �� �� ������	�� �� ���	 ����	 �������� �� ���	� ��	��� �� ��� ��	! ��
������� #� ��� 	���	��� ��
������� ���	 ���� ���	� �������� �� ������������ ������������ �� ���	�
�� ��� �	��� �������
 ��� ����� ��	��� ��������	 ���� ������!�� ��� �������� �� ��� ����� �����
�� 	������	� �� �	������� ��	������� �� �� �	���������� �� �	���	� �� '(* ���	 ��� ������ ����	
����

0� �	����� � ����� �1������ �� 02� �� *����! �� ���� �� *�	���� �� )�!����� 3�������	��
#� 	���	��� 3������ �������� �� '	�������� ��
�	 ��	 ���	 �������� #� �������� ��
�������
	���	���	 ����� 4����	�
 ��� 	����������
 ��	 ��� ������� ��	������
 �� 	�
���	 �����������
�� ��� ���������� ��� ��� ����� �����	������� ���� �� ��� ���	�������� �� ����� �������

+��� ��� 	���	�������� ���� ��
������� ��� ����	�� �� 
	���� �� ���������� �� *)�3
5 *!���� &�	�! ���	 ������	 ���������� ���� �� 
	���� �� ���	 �� 
���� �������� ������� � ��
���	� ���� �� �	�����
 #���%0�	������� ����� ���	 �� 
���������� �� �� 	�
���	
 2	�� ���� ������
���� ��	��
�� �� ��������	�� �� �!����	���� ����� ��� ���  ��� ���	�
� ���	 �� �����"
 0�����
6�����
 #���%2	�� �� ��� ����%��� ��� ��� ������ ���� �� ����� �� ����� ���� ���� 5 &��	���
���������  ��	�� ������������� ���	 ��� ������������ ��	 �� ������ ��� �������	������"
 '	���7
&����� �� *�������� )���	��

#� ������� ���	� �� ���� ������ �������� �� 84��8
 �� ������
�� �� ��	��� ������� �� �����	�
�� ��� �	��� ���� 0�����
�� �� ������	���� ���� �������� ���� ��	��
�� 8����� ! 
��	���8 ��
���������� ��	����� ���� ����� ���
��� �����	������� ��	 �� '(* �� )�9� 6�����
 ��� �����
 ��
���� �		����� �� �� ��� $�	�� ������	 ������	� ����� ����

#���	���� ������� ���� ��� 	���	�������� �� ���� ��� ����	�� �� ����� 
	���� �������%
	�����
 ��	 �� ���� ��	� ����� ��! � ��� �� �� ���� �� ��� �� ���� ��� ����� ��� �������� ��
���	 �� �����	� �� �� ��� �� ���� ������ ��� 	������� 
������� �� ��������� 5 &��	��� +�����%
,��
 0����� *��������
 $������ 4�	���
 0��	���%:�����	 4��	�
 )���	 �	��	����	
 &��	���
������
 )���� 3��������� �� *!����� ������ ;� 
	��� ��	�� �� '���! (������ ���	 ���
�	��������� ������������ ������������ �� ��	 ��� 
	��� ��
	�� �����������
 �� �� ��	��� ����
����
�� �� �������	����� % )��� 4������	�
 #�	
� )�	��	�  �	����������%���"
 $����� '�	������/
�� 2�	���� 0���	���� % �� �� �� ��	��� ��������� % -�	�%.���/ *������
 :	���  �� 
	��� ��	��
���	 ��� ������� ��������� ������� ���	 �� ��		������ �� �� �	����������"
 �������	�
 0�	��%
�����
 6��������� $�	�� ��
������� �� #�1 ,��	
� ���	 ��� �	������� �������� �� �� ���� ��� ���	��



����	�� ��� ��� ��	������� ��� �����	������ �� ��� ��� ����	����� �� ��� �������� �� �	�����
����������

#� �������� ��
������� 	���	���	 ����� *������ ��� ���� � 
�������� ���	�� ��� ����
�<�32 ���	 �� ������ ��� ��� �� � 	������� �� ��� ��������� ��	 �� ������� ���
 �� �	������

�������� ������������� ���	��
�	�

#� ��������	�� ��� �� �������	 �� ��� 	���������� �� ���
� (���	� &�
	��� ��� �������
������� �� ������ �� �� �����������

$�	�� ����� �� ����� ��	�� ��	 �� 
	���� 
����������� #� 
�	��	�� �� ��� �������	 ���
������	�� �� *)�3 5 :�����	
 $�����	
 =���
 2	��
 ,����
 '��	�
 �������	�
 �� ��	��������	�����
2��������� �� &������� ��	
 �� �������� �������� �	���
 ���� ����� ������� ��� ���� �� �� �����
��� ���	�� �� ��	��
�� �� ����� ��������

$�� ��	����	�� �������� ���� �� �� ������� �� ������� �� ��� ��������
 ��	 ���������� ���� ��
����
 �� �� ��� ���� ��� ���� ������ ��� )!	������� ��� ��� ������	� ����� �	�������� )��� ���	�
���	���%�� ����� 	���	���	 +���������� ���	 ��� 82�	��� >?8 ��� � ��	��� �� �� ���	� ���������	
������ ���	  �� ��	��	 �� @A�AA"
 ������� ��� �� ��� ���� ��� ������ ������� '���������
 ��	��
��	��� ���� ��	� �� :�����	 ��� ��� ������ ��� ��	� ��	��� ����� ��	����	� ������ �� ������ ��
��� ������	�� ��� ������� ������������� ���	 ��	��� ���	� 0���� �� ��� ��� �� ������ ����� �������

8+��� ���� ! ���� �����

��	� �� �����	� �� ����	

����	 �������� �������

������� ���	� �� ��	�8

80��������
 ��� ��� �������
�� ������
 ! ���� ����B

���������
 �� ��! ������

�� ���� ������ �� ����	�
�� ����	 �� ���� ������

! �� �����	 �� ����� ��	���
�� �� �� ����� ��� �����
�� �� �� �����	 � ����	�

0��������
 �� ��! ������

���� ������� �� �� ��	8
������� �����	�
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 �� 
�������� �� ���������� �
��� �������	
� �� ����������	��
��	 � � � � � � � � � � � � � � � � � � � � � � � � � � �

����� �� ��	���� ��������������� � � � � � � � � � � � � � � � � � � � � � � � � ��
����� ��	 ���	�����	 �� �� ��������� � ���������	 ��������	 �� ������ ���	�����	� � � ��
����� ����		� �� ����� ��	 ���	�����	 � � � � � � � � � � � � � � � � � � � � � � � ��
����� ������� �� �� ��	��� ����� �� !���		� ��	 ���	�����	 � � � � � � � � � � � �"

��� �������	����� �� �� ��������� �� 	��������� � � � � � � � � � � � � � � � � � � � � �#
����� �$������%� &��	���� '��������������& � � � � � � � � � � � � � � � � � � �(
����� )���
��	 ����	 �� ��	���� ��������������� � *������+ ',-*.� �� '/�� ��
����� �������	����� �� �� ���	���������� �� ����01���
��� � � � � � � � � � � � �#
����� )���
��	 ����	 �$��!��������� � � � � � � � � � � � � � � � � � � � � � � ��
����" ��	 1��
���	 ����
�����
��	 � � � � � � � � � � � � � � � � � � � � � � � ��

��� ������	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� ������ �������������� �	
��� �� 1��	���� �� 1�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ��	��� �� �$�����	���� �� 1��	���� � �� ,..23-� � � � � � � � � � � � � � � � � ��
��� �� �� �� �$%��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �#
��� �� 	������
����� 43, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

����� �� ���������� �� 	���������� � � � � � � � � � � � � � � � � � � � � � � � �(
����� 5���
�� '���
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�
����� ��	 ����������	 �����	��	 ���� �$������6������ � � � � � � � � � � � � � � � "�
����� ��	 	������������	 ���	��
��	 � � � � � � � � � � � � � � � � � � � � � � � "�
����" �� �%�
 �� �$����	����� � �7,'� � � � � � � � � � � � � � � � � � � � � "�

��" �� ���	� ��	 �������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ""

	 ������� ��� �������� ��
��� ���� ������ ��	 ����������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�

����� ���� ������ �� ��	����� � � � � � � � � � � � � � � � � � � � � � � � � � � "�
����� ������ �� �� ��	���	��� � � � � � � � � � � � � � � � � � � � � � � � � � � "8
����� ���� ������ �� ��
�	 �� !�� � � � � � � � � � � � � � � � � � � � � � � � #�
����� ���� ������ �� ���������� ,..23-� � � � � � � � � � � � � � � � � � � #�

��� '�����6������ ��	 ���	���	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�
����� '�����6������ �� �%���� � � � � � � � � � � � � � � � � � � � � � � � � � � #�
����� '�����6������ �� 
�		� � � � � � � � � � � � � � � � � � � � � � � � � � � ##

�



� ����� ���  ����
��

��� 9�	��� ����� �� �� !���		� ��	 ���	���	 � � � � � � � � � � � � � � � � � � � � � � #�
����� 3����	�������� ��	 ��	��� �����	 �� !���		� � � � � � � � � � � � � � � � #�
����� ��	 ��	��� �����	 ����
������	 � � � � � � � � � � � � � � � � � � � � � � ��

��� ������ ��	 	������	 �Æ����	 �� ���������� � � � � � � � � � � � � � � � � � � � ��
����� ,��	�������� �� �� �� �� !��� � � � � � � � � � � � � � � � � � � � � � � � ��
����� 9�����
������� �� ��
 �� �$���
�	 ���	 �� �� �� � ������ � � � � � � � ��
����� 2�
�	 
��� � �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
����� .Æ������� �� ���������� � �� � � � � � � � � � � � � � � � � � � � � � � � � �"
����" 2���	
�		��� ��	 ���	���	 �� ���!��	 �� 	������
����� � ���	
� � � � � � � � �"
����# 7� ��� ���
� ��������� ���	 �� ������ �� �� ����	
�		��� � � � � � � � ��
����� ���������� ��	 ���������	 	���������	 � ���� � � � � � � � � � � � � � � � �(

��" '����������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8�

� 
��������� �������������� �� ���������� "	
��� ��	 ���	�����	 �������
������ � 	������	 �Æ����	 � � � � � � � � � � � � � � � � � 8�
��� ��	 ���	�����	 �������
������ �

�����������	 �����
���
��	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � (�
����� ��	 !���		�	 �������
������	 � � � � � � � � � � � � � � � � � � � � � � � � (�
����� ��
�����	�� ��	 �������	 ��	 ��	��� �����	

�!�� ��	 �����������	 �� :���%� �� �� �����		�� � � � � � � � � � � � � � (8
��� ��
�����	�� ��� 
�	���	 �� �����
���
�� ��!��	�

�� ;�  �� �� ��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ((
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 �������� �����
 ����� 	��� �������
���+ 	��� ��� �>�� �������

9��	 �� ��	 ��� �� ����01���
��� �	� 6		���+ �� ���� 	� ���	������� ��� ��� 6����� 
��+
����������
���+ �	� ����
������� ��		� ��� �$��!��������� �� 
���
��	 ��������	� �� ��
���������
����� �� 6		��� �� �$��!��������� ��������� ��� ��Æ������ 	������
������� ���	 �� ������
���
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��� .� �>��+ �� 6		��� �	� �� �%����
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�
���

)���
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������	 �����	��� ��� ������ �����
�������� ����� ��	 �%�	�	 �� ��	���� �� ��
���	���������� �������� ����7��1����'��� ����� ������ �����
�������� ������� �� �$��
�	��� �$��� ��
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�� ���	 �
�������� 
�� ����� ��	 ���������	 ��
�	�	 ���	 ��
�� ���	���������� �� ���� ��� ��
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������ 
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��������� ���	 ����� ��	�������� ��	 ���������	 �� 	��������� 
�� ���	
��
�� �����	��� �������� ��������0����� �	� ����	 �������� �� 	� ���� 
�� �$�������� �$���������� 	���
���� ������ ���� 
�� �� �������� �� �%��
���	����� 	��� ������� ��� �$�	� ��		� �� 
�$�� ����!�
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9��	 �� ��	 �$��� �� �� �����		�+ ��	 ���������	 B�������	 �� ������	C �� %���� ��������
��?������	 ������ �� �%�	� ������ �� ��	���� ��������������� ���!���+ �� ���� ����+ ������� ���
��� ���!���� ��������� �� 	��������� 	�� �� ����� ����� �� �� �� ��� ���� ���	����� ��� ��	����
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���� �� %����
�������� 
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�	 �� ����������������

P �� ������		���� �� �� ��	��� ����� ��������� ��	 	������	 �� �������	 �	� �
��������
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9$�� ����� �����+ ��	 ���������	 �� 	��������� !��� ���		�� ��	 ������ ���	�����	 ���	 ��
�� �� �� �%������� 	� ��
��	����� ���� �� ���� �� �$������������ ��	 ������ ���	�����	+ ����
�� ������� 	��� ���������1	 �� �����	 �$��� �������� �������
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��	�0�	������ ���	 �� 
@�
� ���1����������
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�� ����� ���	 �� ���� ��
�		����

P 9��	 �� 6���� ��� �� ��	������ �� ��� )��	�0.��	��
�� B).C ����%� �� �$�������� ����0
����� ���	 ��	 ���������	 B��
�� ��
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@�
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���� 
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���������
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�� B)'C ������ �� � � "�� ��� !�	� �� ��� �����	 �!���
���
��
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� �
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�� ��
� � ���
���+ 
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��	 ������ ���	�����	 �� 	��������� ����	������ ��� ������ ��!��	���� �� ��%��	 �� �� !������
�� 	�� ������� ����� ��!��	���� �	� ��� ��� ��>������	 
������	
�	 �� ���������� ��	 ������
���	�����	� .� �>��+ ��	 ������ �������	 ���	 �$��� 6		��� �� ����01���
��� ������� �� ���	��!��
�� ������� ��� �� ����� 6		�������� 5�+ �� !������ �� 	�� ������ �	� �������� 	�� ��	 ������ �!��
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750 MeV Fe+p
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500 MeV Fe+p
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300 MeV Fe+p
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���
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B������ 
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��� ��� 	���������� =��� ��	 ������
�
�
���
��
��+ ��	 ���	�����	 	��� ���� �������
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���� ��	 �� ���� �� ���%��� .� ��0
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 �� �� ������
��
��	��� ����� �%�@H�� �� �������		����� 9��	 �� ���	 ��	+ ����� 
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����� ��	 ������
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����� �� ��
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������ ��
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�	���	 ���� �� ������
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�	���	 �� ���%��� 9� ���	+ ���	 �� ��	 �� �� ��
�����	�� ��	
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���	 ��� ���� �����������	+ 	� �$�� ����� ��
��� ��	
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��+ �6� �� �������� ��� ��������� �� 	���0
������ � Q �����+ �� ��!�	� ����� ��������� �� ���� �%�	�	 � �� ��	���� ��������������� �� ��
���	���������� ��� ��!��������� �� ���������	 �� ��	��������� ���	���������� ��
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��� ��
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0
�����+ �� �� !�� �� ���!����	 �������	 �������
������	+ �� ������	� �������� ��� ��	 ����	� ��	
���	�����	 �� �� ��
�����	�� �!�� ��	 �������	 �� ���� ���S- �$�������� �� 1��	���� �������� ��
�� ��	��� ����� �� �%����+ �� ��	��� ����� �� 
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	�� ��	 6����	 ���"+ ���# �� ���� ��	�����!�
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������ ���	 ������	� - ������ ���� ���� !���� �� ���� 1������	 ��>������	+ ��  ��� �$��������
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��������+ �� 
��
������� �� ���� �$��!��������� �� ���������	+ ��  ���+ �$�	� �$��!��������� �� ���������	 
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���� ��
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���	����� �	� ��
������
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��� �� ���
�����
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���
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��	
	��� 
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����

�� ���� �� ��	���� '/�� �� \� ������ � ����� �
�������� �����

��� �� 	��� �� ����� ������
�� ���!��� �� ,=%/ �� 
�� � ������ ���� �� �� !��	��� '/��� 
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������	 ��	 ���	���	 �� 	���������

�� ��� ����� � �����	 ��� ����� ����� ������� 	�� ��	 ������ �����	 ��

� �� ����� E���+ ��F
�� �� ����� E��F� �� ���	����� � ���� 	�� ��	 ���	���	 �$��!��������� 
������� ��� �
�����������
��� ������� ��� ������	 !��	���	 �� ���� �� ��� ����	  ���� ������������� �� �� 	������ �6����
�� ���������� ��	 ������ �!�� ��� 
�		� ����%� �� ����� �� ���?������ B
�� �	� �������
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��� ��� �� ���� �� ��	���� ��� �� � � ��� ��	 ���������	 ��!�������	C� .� ��!���%�+
��	 ������ ���	�����	 ���	 ������	 �������� 	��	0�	��
��	 �� 
�� ���� �
���� �� ���	�� 
�� �$��������
�$���������� ���		��� ���	 �� ����1���
��� �	� ��	�Æ	���� ���� ������ ��
��� �� �$��!���������
�����		���� ���� � ����� ��	 	������	 �Æ����	 �� ���������� �� ��	 ���	���	� 3�������	 
������
���� 
�� �� ���� -*�- ����� ��	 ����	  ��	 ���	�����	 	�� ��	 ���� �	 �	�����
��	 ��	 ������
�����	 E��+ 8�+ 8#F �� 	�� �� ������ 6		����

��	 ������	���	 
�� ���!��� @���� � �����	 �� ������ �� ��	 �������	 �������
������	 	���
����	 	�
 �� ��	 �� �����	 � �����	 �!�� ��	 ���	����	 �� ������ �����	� ��	 	������	 �Æ����	 ��
���������� ��	 ������ ����%� �� ����� �� ���?������ 	���+ �� ��� ����	+  ��� �����������	+ ��

�� ����� ��� 	������ �Æ���� ������ �� ��������� ����%� �� ����� ���	����� �������
����� ���
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1000 MeV Fe+p, INCL4 + DRESNER
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Fe + p 1000 MeV/A, INCL4 + SMM
03/10/01   16.15
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Fe + p 1000 MeV/A, INCL4 + SMM
03/10/01   12.21
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Fe + p 1000 MeV/A, INCL4 + SMM
03/10/01   12.28
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Fe + p, formule de Silberberg and Tsao
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Fe + p, formule de Webber
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1500 MeV Fe+p, formule de Silberberg and Tsao
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1500 MeV Fe+p
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1500 MeV Fe+p, formule Epax

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

NaNaNa

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

MgMgMg

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

AlAlAl

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

SiSiSi

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

PPP

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

SSS

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

ClClCl

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

ArArAr

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

KKK

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

CaCaCa

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

ScScSc

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

TiTiTi

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

VVV

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

CrCrCr

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

MnMnMn

10
-3

10
-2

10
-1

1

10

10 2

6 20.5 35

FeFeFe

/�,* �*�"0 ��
�����	�� ��	 ��	��� �����	 �	�����
��	 �� �"�� ���S- �!�� �� 1��
���
.=-T E8�F



�*� �� ������� �Æ���� ������ �� �������� 
�-

$�. �� 	������ �Æ���� ������ �� ���������

,�� �� �� ���� ��� �� 
����� ��	 !�����	 �������
������	 �� �� 	������ �Æ���� ������ ��
���������� ��	 !�����	 ��� ����� � �����	 �� 	�

��� ��	 	������	 �Æ����	 �� ���������� �� ���	
��	 �	�����	 B�� �	��
� 
�� �� ������ ����� ��	 �	�����	 
��
����	 �	� ��1������� �� ��  ����
�$������ ������� ���� �� !����� �� �� 	������ �Æ���� ������ �� ���������C� '� ���	�� ��	 
�	���	
�������
������	 �� 	������ �Æ���� ����� �� ��������� ������	���	 ��� ��>������	 ������	 
�� ���!���
@���� ��
������	 �� ��	 ���	�����	 � '� 1���+ �����
���	 ����� 
�� ��	 !�����	 	��� � ����	 ����
�� ��������� 
	�3� Q �+  ��� 
�� �� 1�� ������� ��� ��� 
�		� B""+8C ����	 ����%� �� �$�	�����
��3� �����	�� ���	 ����� ������������ �� !����� ��
����
�� �� ��	 �������	 �������
������	 ��
���� ���1������ 	��� �����	 	�� �� �� ���� ���


�88 
888 ��8 �88 	88

�(�� #8 �8�� #� ���� "# #�(� �8 #�(� �"

��'* �*
0 ,������ �Æ���� ������ �� ��������� �������
������ ���� ��	 ���
 ��������	 ��>�������	
�� 1��	�����

����,�� 3 �+4 ���� 3�'4 
�#�������

��� ##�� �# E���F
��� �(�� �� E��"F
�"� ��(� �� E��#F
��8 �(�� �"� E���F
�8�+� ��� E��8F

���� "� #��� �� E��(F
���� �� #8�� ( E���F

�#� �(�� �� E��"F
���� "� ##�� �� E��(F
��"� �� #�8� ( E���F

��� 8"#� �8 E���F
�"�� ��� ��"� "" E���F
�#�� �� ��#� ( E���F

"�� #��� �� E��"F
""�� �� ���� ( E���F
�"�� �� ##�� 8� E��(F

(�� 8"�� #� E��"F
�88� �"�� "� E���F

��'* �*�0 ��
�������� �� �������	 �������
������	 �� �� 	������ �Æ���� ������ �� ���������
�� 
	�3�Q �

5� ���� ����� 
�� ����� !����� �������
������ �� �� 	������ �Æ���� ������ �� ��������� ��
��� ��� 	� ����!� @���� ���	 ������ 
�$�� "�� ���� ���� �$�	� ��	 ������� �!�� ��	 ����	�
.� ��!���%�+ ���� 
�	���	 ������������	 ��������� �� ���	����� 	�
 �� �� �� ����� �




	8 
�������� ������������� �� ����������

����B"����' C K #��� �� 
 �� E��"F

����B���� "���' C K ##�� �� 
 �� E��(F

5� ��
��
�� 
�� 	� �$�� ����� �� ��
��� ��	 �����������	 �		������	 �� ��	 
�	���	 E��"F+
E��(F �� �����	 �� ��	 
�	���	 ��������
������	+ ��	 ���	�����	 	��� ��
���� ��	� 5� ��
����+
�� 	����+ ��	 !�����	 �� �� 	������ �Æ���� ������ �� ��������� �������
������ �� �� 
�� �������
��	 ����	 �� ��	���� 	�� �� �� ���� ��� B��	 !�����	 ����� ������%��	�	 	��� ��	 ������	 ������1	
�!�� ��	 !�����	 �������
������	C �

(���B����,�� 3 �+B�4 
�88 
888 ��8 �88 	88

�2(�� ��� ��� ��# ##� #�"
B��� �OC B�#� �OC B��� "OC BQ"� �OC B���� (OC

������ P ��� ��� #�( #��
P B�"� �OC B��� "OC BQ"� #OC B�#� #OC

��
��2� �8� �8� ��" ��� #""
B��� �OC B�� �OC BQ�� �OC BQ��� "OC B��� "OC

��'* �*	0 9�>������� ����� �� 	������ �Æ���� ����� �� ��������� ������� ��� ��	 ����	 �� ��	����
�� 	� !����� �������
������� �� ���� ',-*.� �$�	� ��	 ���!��� �� �� �$�����	�� ���� ��	
��������	 �� 1��	���� 	����������	 �� � :���

��	 ������	���	 � 	����	 � �����	 	�� ��	 	������	 �Æ����	 ������	 �� ��������� ���	 �����
����������� �� ���
������ ��	 �� ��	���
���� ����� ��	 
������	� ,�� �� 6���� ���( �� 
�����
��	 ��>�������	 
�	���	 �������
������	 �� �� ���� ��� �� 1������� �� �$�������� �� ���?������
B�����	 �����	C� /�	 �������	 	��� ������	������	 ��� ��	 �������	  ����	 �� ��	 �����������	 ��	
����	 ����	 �� ��	���� �����	��	 ���	 �� ���!��� 	��� ������	�����	 ��� ��	 �����	 ��������	�

$�/ ������	���

9��	 �� �%������+ ���	 �!��	 ����	����� ��	 �������	+ ��	 	������	 �Æ����	 �	�����
��	 ��
���������� ��	 ������ ���	�����	 �� ����	 �����������	 �����
���
��	 � !���		� �� ����� �� �������
��	 ��	��� �����	 �� !���		�� ���������� ��	 !���		�	 
������	 �� ����� ��	 ������ ���	�����	+
����	 ��� ����� ����	1��
���	 �� �� !���� �� �� �����		�� B������������� �� �$�������� �� 1��	����C
��������� � �

� �6� �� ��	 ��
����� �� ����� ������������ 5� ����!� �������
������
��� ��� �����
�� 1������� �� �� ����� �� 
�		� ���	���01�� ���	 �
�������� 
�� ����� �������� ��� �����		��
�� ��� 	��������� �� 	� !����� �� ������ �$��� ����� �� 
�		� �� �� �� �" ��������	� /��	 �!��	

������ ������
��� �� ��
�����	�� ��	 !���		�	 �� �������	 �� ������ �������
������	 �!�� ��
���� '/��� Q -*�-� /��	 �!��	 !� 
�� �� ���� ������� ��	 !�����	 ����	 ��>�������	 ����
��	 !���		�	 �� ����� 	$��������� �� ���	 �� ���	 �� �� !����� �������
������ ���� ��	 ���	���	
��	 ���	 ������	� ���������+ �� �� 
�� �������� ��	 �������	 ��	 ��	��� �����	+ 	�  ��� �� ���	��



�*" (��������� 
	


600

700

800

900

1000

250 500 750 10001250150017502000

diff. donnees
ce travail
INCL4
ISABEL
BERTINI

Energie

T
ot

al
 C

ro
ss

-s
ec

ti
on

 (
m

b)

/�,* �*�-0 ��
�����	�� �� �� 	������ �Æ���� ����� �� ��������� � ��	 �������	 ������	������ ��	
�������	 �������
������	+ ��	 �����	 �����	������� �� �$�����	 
�	���	 �������
������	 B����
��1������	 !��� �����C+ �� ��	 �����	 
������� �� ���	����� ��	 ����	 � ������ ��	� �� ���� ��
��	���� '/��� + ������� !���� �� ���� �� ��	���� *.32'/' �� ������� ����� �� ���� ��
��	���� ',-*.�

��� ��>������� ����� �� !����� ��	 ����	 �� ����� !����� �������
������+ ���� ��	�� ���	�����
���� ���	 ��	 ������� ��	 �������	 ��	 ��	��� �����	 �� !���		� ��� ����� ��		� ��
������	 ���
�����������	 �� :���%� �� �� �����	�� ����	������	 ���	 �� ���
��� �%������� /��	 
������	

�� �$������ �	� ����	  �� �!�� �� ������ �� :���%� �� �� ��������
��� �� ��	������ �!�� ��
����������� �� �����		�� 
�� �������� ����� ��
��� �� �$�������		�
��� �� 	������ ��� �� �%�	�
�$��!����������

/��	 �!��	+ ��	����+ ��
����� ��� ������ �� ��	 	������	 �Æ����	 �� ���������� �� �$�����	
�������	 �������
������	� ��	 �������	 ��� ����� � �����	 ��� ��>������	 ������	 �� ���!��	 ��

���%��� �������
������ �����	��� �� �����
���
�� ��!��	� B;�  �� �� ����� �������	C �� �������
B���%�� �� ����� �������	C� �� ������	��� ���������� 
�� �$�� ���� � ����� �� ��	 ��
�����	��	
�	� 
�� ��	 ���	�����	 	��� ��
���� ��	 �!�� ��	 �����	 
�	���	 �������
������	+ 	� �$�� ����� ��
��
��� ��	 �����������	� /����
���	+ ���	 �� ��	 ��	 ���	�����	 � ����	 �� "�� �� ��� ���S-+
�� ��>������� �!�� ��	 �����	 
�	���	 �������
������	 ���� ��������� ��O ���� ��	 ���	���	 ��	
���	 ������	 
�	����	�

�$������ ��������� � ���� ���� ��	 	������	 �Æ����	 �� ���������� �� 
���
��	 ���	���	 �!��
�$�����	 �������	 �������
������	 �	� ��		� !����6�� �!�� �� 	������ �Æ���� ������ �� ����������
/��	 �!��	 
������ ��� ��
�������� �� �������	 �������
������	 �� ����� 	������ �Æ���� �����
�� ��������� 
	�3�Q � 
�� ���!��� @���� ��
������	 �� ��	 ���	�����	 ���� ��	 ��>�������	 ��������	
�����	���	� 5� ���� 
�� ��	 ���	�����	 	$��	���!���  ��� ���	 �� �������� 
��
���� ��� ��	 �����	
�������	 ���	� 
�� ��� ����� ��	 ����	�




	� 
�������� ������������� �� ����������

.� �� 
�� �������� �� ��
�����	�� �� ��	 �������	 �� 	������ �Æ����	 �� ����������
�!�� �� ����������� ��	 ����	 B��	���� Q ���	����������C �� ���� ���� 
��+ �$��� 
�������
����������+ ��	 ���	�����	 � ����	 �� 	��� ��	 ������ �		�D ������	� �� ��
 ����	�� �� ���� ��
��	���� �� *.32'/' 	��!� �� ���� �� ���	���������� 93.,/.3 �	� 	��!��� �����	�� ���	 ��	
�����������	 ��+  ��� 
�� �$�� ����� �� !�� ��� ��+ ���� ��������	� �� 	������ �Æ���� �����
�� ���������+ �� ���� �� *.32'/' � �������� �� ���		�� ���� �$�������� �$���������� ���	 ��
����1���
��� ������	��� �� ��� ���� �
�������� ���������� �� ��	���	 ������	� �� ��
�����
���
�	� ��������� ���� ��	 ����	 B'/��� �� ',-*.�C 
�� ��� �������� �� 	��	 �	��
�� �� ����������
�� ��	���	 ������	 
���
�� 	��� �� ���� �� ���	���������� B-*�- �� 93.,/.3C+ 
��	 �������
��� !����� ���	 �����	� ��	 ���	���	 ��	 ���	 �����	 �������	 �!�� �� ���	 ������ 	������ �Æ�����

,���� �� �$���%�� �� 
������	 ���� ���������� ��	 !���		�	 �� ��	 	������	 �Æ����	 �� ���0
������� ��	 ���	���	 ������	+ ���	 �!��	 !���� �������� �� ������ ����� �$�� 
������	
� ��

����1���
��������� /��	 �!��	 ���� �>������ �� ������ �������� �� ���� �� ��	���� '/���
�!�� �� ���� �� 
����1���
�������� ,��� �� ���	����� � ���� �	� ���
������ ���	
�$�� ���
��
 ��� �� ������!�� ��	 	������	 �Æ����	 ��	 ������ ��	 ���	 ������	+ 
��	 �$�	� �� ������
���
�$��� 1���� 	��	 ���������� ��	 ���	���	 �����
��������	� '� ��	������ ���� �� 
���� �������� ��
�������� ����� �� ��	����+ �$��!��������� �� �� 
����1���
���������

���������
��� ��� ����	+ ��	 1��
���	 ����
�����
��	 �� ;�  ��+ �� ���	 �������������
���
�� ,�� �� ��� �� 2	��+ ��������	��� �$��� 
������� ���������� ��	 	������	 �Æ����	 �� ����������
��	 ���	���	� '� 1��� �����
���	 	�������� 
�� ��	 ���� 1��
���	 ��� ����� ����
�����	���	 �� ������
�� �������	 ���	�����	 ���������� ��	 1���
���	 �� 1�� ���	 �� 
@�
� ��
��� �$���������
���� ��������� ������ ���� ��	 ������ ��	�����	 �� 	��������� �$�����	 ������ ������	 ��	�� ����
������ �� ����!��� 9��	 �� ��	 �� �� 1��
��� .=-T 	����	 ��	 �������	 �� �� ���	 %���� ��������
�� 1��	���� �������� B�"�� ���S-C+ ����	 �� �� ��
��� �� 1���
��������+ 	��� �� ������ ��
��������� �� �����
���	�� �� 	������ �Æ���� ������ �� ��������� B�� 
�� ��������� ��� ����	
 ���� 	������ �Æ���� ��	 ���	���	 ����%� �� ���?������ 
��	 	���	��
����� ��	 ���	 ������	C�



����	���  

����	���	�
 
� �� !�
"���� �#�
����� ��
�

�
 ����
��� ����	��

9��	 �� �%������+ �� 	� �����	� �$��!�
��� �� ��� ���
� �� �� ��	���� ��	 ����%��	 ���������1	
���!����� �� ����� �� ���������� �� �$������������� ��� 6		��� ��+ �� �����������+ ��	 ���!����
���	 �� ���%���%� ��!�	����	� =��� ��� ��1��
����� ���	 ��
������ 	� ���1����� �� ��!��	 E���F ��
E��"F�

7� �� ��	 ���	 �� ���%���%�	 �� ����� �� �� ����	
������� ��	 �������	 �� 6		��� �� !��
������ �� ��	 ��������	 
�����	� =��	����	 	��������	 	��� ��!�	����	 ���� ��� ����� ����	0

�������+ ���
� ����0��+ �$�����	����� �� ���������	 	��	 �����
��	 �		�	���	 ��� �������������	
B	�	���
�	 %� ����	C� �� ���� �� ��������� 	���  ����!�
��� ��������

/��	 ���	 1�����	����	 ���	 �� �%������ 	�� ��	 ��

���	 ��� 
��������� 
�� ���!���
	� �� ��	 �����
���	 	���������	 �$�� 	�	���
� %� ����+ ���	 �����@���
��� �� 1��@���� 	��������
�$������������� �� �� �� �� �� 	���������� ����� 1��@���� �	� ����������
�� ����!�� �� ����� ���� ��
���	������� ��������� �	� �� 1��� -��	�+ ��	 ���	�����	 �������
������ 
�� 1��� �$� ?�� �� �� ��!���
�� �%��	� ���!��� �!��� ��� ����������� ������� �� ������ �� �������	 ��

���	 ���	 
�� ��	
�������������	 ��	 �����
���	 ���	�����	 
�� !��� 	� �������� 	�� �� 1��@���� �� ��������� ���� ��
���� �� ����� �$����������� �� ��	 ��� ���
�	 ����	 ��� ��������
���	 ��	 ���
�	 �� 1�� ���	 ��
���	��� ���	������ �� ���	� ��	 !���		�	 �� ����� ��	 ������ ���	�����	 �� 	��������� B���C�

&�� ��	 ���� ��	 ����������	

�� ���6������ �� ����%�� ���������1 ������� ��� �$������ �� �$�������� ���������� �� �$5�9. ��
��

����
��� �������� �	� � &2���� 
������� ��������� ��	 ��������������	 �� �������������
	���������� ��� !�����	 
�� ��	 ���������	 ��
��������	 ���	�������� ��

� ��
�		� ��	 ���	 ��	

��������� ������	 �� ��� �����	����� 	��	 �����@��� �� ���� ��
����� ����� �	��� �$�	� ����!�&

����� ���6������ ���!�� �� ���� �����	 �

�� �����!��� �	� ����� �� �� ����5����� ���	 ���	 ��	 ����%��	 �������	 ��� �� �����
������������������� �� ����	������ ��	 ��	 
@�
�	 ��	
��	� 5� � ����� �
���� �� ��	 ���		�� �� 1�������
�� ���� ��������	 ���������� � �� ��!��� �$����!����+ �		��������
��� !+ �+ �� ������ �� !�� �� ��
������ �� ����	 �� !�� ������+ ��
�����	 �� �$�	� ���	� 
�� �$�� ���		� ��	 ����%��	 ���������1	

���




	� ����������� � �� #������ � ������ ���� �� ������� &�'����

�� ����	 ������	 ����������	 -+ * �� �� 7�� 
�������
� ���������� �	� ��?����$%�� �� �$������
	� ���1����� ��� ������	 
��������	 �� 
��������� �� ����	 1�� �� ����!���� �+ 
��	 �� !�� ������
B�������� 24-C �

9���%��	 �� !�� ������ B�������� 
���	 �� �� ��	C �� 1�� ��
�� 
������ ����!����� 3��������!���� ��
���� �� ��

(���<C
�� � �� ���������!���� ��������� �$��� �� ��� ��	� 3������
��� ! �� ��
5������ � �� ��������	+ 
�������� ����������+ ����	���� B����0���
�������+

�����������+ ��� ���C+ �	���	 ����������	 B� ?��	 �����
����	 � ����	+ 6����	+
���	���	+ ������C
9���%��	 �� !�� ������ B���	����	 ��D����	 �� 
������	 �$������	C

(���<C
�� � �� 1�� �� �� 
������ ����!�����
3������
��� �+ ! �� ��
9���%��	 �� %���� ����!���� �� !�� ������� 9������
��� �� �%����� �������
���	����	 �������� �$������	�

(���<C
�� ( 3������
��� �+ ! �� ��
5������ � ��������
��� ��	 ��
 �	�� ��	 �		�	 ��	 ��������	
����������	 B������	 �� �� ��
 �	����C

��'* �*
0 ���		�6������ ��	 ����%��	 �������� �� 4����� E���F

��	 ����%��	 �� ���������� - 	��� 
�	+ ��� 1��	 ��
������	 ���	 ��	 1@��	 
�������
��	 �!��
��	 	�����������	 ��  ����� �� 	��� 	���J��	 �� 	��1����

��	 ����%��	 �� ���������� * 	��� 	������ ���	������	 �$�����
���	 
�������
��	 ���!����� ��	
�����	 �� ��
 �	�� �� �	���� �� ��	 �����
���	 �� 	�������� �		�	 �� ���
�������
����

��	 ����%��	 �� ���������� � 	��� ��	 ���	���	 �� 6		��� �� ��	 ��������	 �� ������ �������� �
��	 ����������� ((� "O �� �� ���������!���� � �� (8O �� �� ���������!���� ! �� �� ��	 ��������	
	��� ���		��	+ �� ���� ����+ �� ���� ����������	 �

�� ��	 ��������	 ��5���� � ������
 B7C �� ��������
 B=�C X

�� ��	 ��������	 ��
���� � ��������
 B/�C+ �
�������
 B-
C �� �����
 B�
C

��	 ��������	 
�����	 ��� ���� ���������	��
��	 
�� ���!��� @���� ���	�	 �� ��
��� ���	
���� ��	����� 9$��� ����+ �� �������
��� �� �%����� ��� �� ���� %���� ����!���� X ��� �	���� �	�
�� �������� �		������ �6� �� ������
���� �� �����������
��� ��	 ��������	 ���	 �� ����	� .�+ �$��
����� ���� �� ��	
�� ���������
�� ������ ��� ���� ����!����� �� 
�?������ ��	 ��������	 	��� ��	
��
������	 �+ ���������	 1����
��� ����	����	 �� �� 
��������

.� �� 
�� �������� ��	 �������	 �� 6		��� B=4C+ �� 1��� 
��������� 
�$��	 	� ��������		���
	���� �� 	������ �� 
�		� ������ �� -K8� �� -K�"�� -�  ��� �� ����	 ��	 �� ��1�����		�
���+
��	 =4 ����	���	 ���	 �� ��
 �	�� �� 	��� ��	 ���	���	 	�� ��	+ ��	 =4 �� !�� 
������+ �� ����5
�� �� ��?) �$��!���� �� ��	 �� �������� ��+ ��6�+ ��	 =4 �� !�� ������ B=4��C+ ��
������	 !+

�� ��� �� �
���� ���������
�� ���	 ��	 	���J���	 �� ����%��	�



�*
 ��� ���&��� ���������� 
	�

�.��
��� B
��������C '	����� =������� B������	C )�������� B�����	S��C
��������
 ����� 88 �+�(
B��+� �����	S��C ����� �� �� ��� #+"�

����� #� "� ��� �+"�
��������	 
�����	 ����� �� �� ��� �+�8
B�+� �����	S��C ����
 ��� �+�"

����
 �� �� ��� �+��
����
 8� "� ��� �+���

�������	 �� 6		��� ��?) �( �+#
B�( �����	S��C ���) �� "� ��� �+(

���. �� �� ��� �+�
����+ #� "� ��� �+�"
���F �� #� ��� �+�
����5 �� �� ��� �+�
����5 �� �+�

��'* �*�0 9����� �� !�� �� 
���������	 ��	 ���������� �	�����	 �� !�� ������ ���	 �� ��
 �	0
�� �� �������� ����%����� �%�
�� ������ �� �$��	�
 �� �� ���� ������������������ 1���A���	� .������
�� E���F�

�� �����!��� ������ ���	 �� ���6������ �� ����%�� ���������� �	� ����� �� �%�'�����
�%���,�� ����� ������ �	� 	�?���� �� ��	 ��������������	 ��>�������	+ �� ���!��� �� ��	 ��������	
�		��������
��� ������
�
��	 
�� �������� ��
��� �� �� 	�������� ����������
��� �$�	� �� ��	 ��
��������
 
�� �	� ���	������� ��

� ��
 �	�� �� ���	 �� �������� �� ���������� �$��������
����������+ ��+ �� ���������+ ��

� �� 	�
��� ����%�� ���	
�� �$�� ��!�	���+ ��

� �$�	� ��
��	 ��?����$%�� ��� .���	07��	 �� �� ,�����+ �� �� ���		�� ���	 �� ��
 �	�� �� �	�� ���� @����
	���J�� ���6����!�
��� �� ����%�	 ��������
��	 ���1����	� 5� !��� ����	 
�� �� ������
�� ��
��	���� �� ��	 
�������	 ����������	 ����!�	+ ��

� �� ��������
 �� �$������
 ��������+ ��<����
���	 ��� ����� 
�	��� ��	 �%��� ����������
��	 �$�� ���	�

�� ��� ���
� ��	 ����%��	 ����������	 �	� ��!��� ��?����$%�� �� ��?�� ����	 �
�������� '�
�� !�+ ���� ��� ����� ����+ �� �� ��		� ������ �� ����	��!��+ !��� ������������ �� ������

�
������������������� =�����	 ��

� ��������� �� ���1������� �� ��������� �� ��� ���		���	��� B3.=C
�� (�� �;�� �� ���� .94 
�� 1������������� �!�� �� 1������ �� �%���� �� ��O+ ������	���
"+"� 2;%� ��� ��� -!�� ��	 ���������	 �� ��������� �	� �%����� �!�� ��!���� ��+" �����	 ��
��
 �	�� �� �����%� �� �� "O �%�
�� ������� �����0�� !��� 	� ��
��	����� 1����
��� 
���6���
	���� �� �$����������� �� ��������� 
�� ���� � ��	 �� 	$���@��� ���
�� �� ���� �� ��
 �	���� �������
����� �;?S�� 9� 1���+ ��	 ����%����
���	 ���	 �� ��������� 3.= 	$�>������� ��� ����	 ���
1��	 ��� ��� �$�	� ���	 �� ��
 �	�� �� �	��+ 
�� �$�� ����%���� ����	 �� ���������+ 
�� 	� ����!�
�� 
��	�0��������� �� �� ���������!���� ���������� ���	 �� ����� � ���� ��� ����� �$������
 �������
�����%� �� ���� �� ����!� ��� 
�		� �� ("" J� �$������
 ���	
�� ���%����� B�� ��!���� �O
�� ����C+ (+� J� �� ��������
+ �" J� �� �������	 �� 6		��� �� � J� �$��������	 
�����	�

-� 
�
��� �� 	�� ����%����
���+ �� ��
 �	�� �� � ��� ����	 1���� ����!���� �� �	� 	���J��
������� ���	����	 ������	 B���	 �� �����
�� �� � �� " ��	C ���	 �� ��	���� �� ����%����
��� ��
�� �������� ����������� -�  ��� �$�� ��+ 	�� ����!���� �	� ��
 ��� �� ��� !����� �$��!���� ����

������	 �� �����	 ��� ������ -����	 �� �������� �� ��1�����		�
���+ ���� 
���	 �� ��	���� ��	




	) ����������� � �� #������ � ������ ���� �� ������� &�'����

��
 �	�� ��	 ��������	 	��� ��������
��� ��!�	����	 �� ���� 
������ �

�� �� ���
����� ���	�	�� �� ��������� ��	 ��
 �	�� ��	 �� 
������� �� ����������� �$������

�� �� ��������
 
�� ������	������ (�O �� �� 
�		� �� ��
 �	�� �� �	��+ ��	 �O ��	����
������ ������������	 	��	 1��
� �� ����	 �� ����%��	 ��	�����	+ ���� �� �������+ �� 	���J���
�� ���1������� �� !��� �� ��������
���+ 
�	� �� ���!�� ��������
��� �� 4����� B��
Y����C+ 3����
�07�� B,����6���	C+ \���� B2�J�VH0���� �� 3�J��	%�C �� �� 3�		��+
!�	� �� �������� �$������
 �� �� ��������
 ��

� ��
 �	�� �� �� 	������ ������������+
�� �� �����	�� �� ��������
 ��

� ��
 �	�� �� ��  �	� ��	 1����	 	��������������	� .���
	$��	���� ���� ���	 ��� ���	�����!� �� ���!������
��� �� ����������+ �!�� ��� �����	�����
	�����6
�� �� ��������
�

9��	 �� ��	 ����������� �� �� 4�����+ �� ��������
 	������� ���	 ��	 �	���	 �� ��������
���
��!��� 	��!�� �� ��
 �	�� �� �$��� ���!���� 6������+ ����� ��	 ���������	 	��������������	+
���������	 �� �������	 ������	 ��������	 �$��� ���!������ �$������
� 9��	 ����0��+ ��
���������� �� ����� 	� 1��� ��� ������� 	��!�� �� �������		���� !� B4���� ���� � ����

�� ���� ��C X ����� ���������� ������� �� ���	�

����� �� ��������
 ���	 �� ������
9����	 �$���@�� �� ������

� 	��������������+ ���� �� �$�����	�� ��	 
��������	 �
��������	
�� ��������
 	��������	 ���	 ��	 �	���	 �� �� Y����+ .94 �� �5:.�- ������������ ��
�(8" �� �������� ���������
��� �� ��������
 ���	 ��	 ���������	 �� ��� �� ���� .94� '�
�	� ��������� B���	 �� ���������	 ����� ��A�� �$������	�����C 	��	 1��
� �$�� ��
 �	�� ��
�$����� 
���� ������
0��������
+ ������� �5T B����� 5����C �����	��� �$������

�����!�� ���!����� �� �$�	��� �$�����%�		�
���� .� 1���+ 	����
��� ��O �� ����� �	�
��������
��� �%����� �� ��
 �	�� �� �5T+ ���� ��	 ���	��	 �� 	@�������

�� �� �������
� 
��� �� ��	����+ �� ���������+ ���	�	�� �� �� ��	 ��������� ��	 ��
 �	�� ��	
�	��	 �� �� ��	 	���J�� ���6����!�
��� �� ����%�	 ��������
��	 ���1����	+ �����	 ��� ��������
���������� �$�������	��� 	��	 ���� ����� !��� �	� 	��!�� ����

��� ��� .���	07��	+ ��
������ �� �� ,�����+ �� �����	���� 	��� �� ��� ������
�� �$�������+ 	��� �� �� ������	
��
���� �� �����������

)�� �� 	��� �� ������� ��	 ����%��	 �		�	 �� ��������
��� �� ��	 ��
 �	�� ��	 ��������	 ���
���������	+ ��	 ����%��	 ����
�	 ����	������ ��	 ��	
��	 ���� �$%�

� �� �$��!������
��� 
��
��������� ������ ��	 
������	 �� 	������	+ �� ���	�� �� �� ����	���� �$��������	 ���	� 
�� ��
�������	 �������	 �� 6		��� �� !�� ������� ���� �	� �� ��	 ��	 ����%��	 � B%���� ����!���� �� !��
������C �� ������
��� ��	 ����%��	 * B!�� ������C� �� 	���J��� �� ����%�	 ��������
��	 ���1����	
	�
 �� @���� �� 	������� �� ���	 ��!�
���� ���	 �� ������� ��	 ���	 ���1������	 �� ��� ���
� �� ��
��	���� ��	 ����%��	 ����������	� ,�������	+ �����
���	 
�� +	��	 !������ ����
�
���+ �� 	���J���
���1��� �������� �� ��	������� ����������
�� B�� 	���J��� �������+ � ���	 �� 
���	 ���� ���
�+
!��	 �� 	��J��� �����!��	� ��C ����	 
�� ��	 
��������	 �
��������	 �$�������� ��	���� ��	���� ��	
���	 ��	 ��������	 
�����	 �� ���	 �$������
 �������� �� �� 	��������������� ����� 	������� �	�
��		� ��� �������� ��		�!� 1��� �� ��� ���
� �� �� �������������� 	� �$�� �� ����� ���� ���� ��
�������� �� �� 	������

�� 	@������ �$�� 	���J��� ��������
�� ���1��� ����	�+ �� ��������+ 	�� �� ��
 ����	�� ��
����	  ��������	 E��"F �



�*� ������������� 0 ��� �������� &�'����� 
	�

�� �� 
������ �� ���6��
��� B!����+ �����
�
��+ ���	 �������	 ��	  �����C ���	 ��
�����
	��� �����	 ��	 ��������������	�

�� ��  �������� ��!������ 
�� 	��� �� ���
���� ��	 ����	 �� ��	 �������	 �$�����	 ����	��	 ���	 ��
�� ���	�������� �� 	��� ���	� 
�$�� ���� �� ��	 ����	 ���������1	�

�� �� 
����� ��������
�� ��� �� 	��� �	� �
�������+ �� ���� �� �@��� �	� ��� 	����
��� �� 1������
�� 
�������� ��	 ��������������	 !��	 ��  ��	�%����+ 
��	 ��		�+ 	$�� � �!��� ��	 1����	+ �$��
�		���� �� ��		������� ���	 �� !���
� �
�������� ��	 	���	 ��!�	����	 	��� �		��������0

��� ��	 �������	+ ��	 ������	 B��	 ���� ������	 ������ ��	 	����	 �������	 �� 4�����C+ ��	
 �	����	+ ��	 	�%�	��	 �� �� 	��� �����  �������� ���� ��������� �� ��	 ��������	 ���	 
�� ��
1�� �� ����������� �$���+ �� 	�� ������ ��������
��+ �$� 	���� �� ��		�����	 �		������	+ ������

-!�� �����	 ��	 ���������	+ �� �	� ����	 ��Æ���� �� ����!�� �� 	��� �� 	���J��� ������� �� �$��
��������� 	��!��� ��	 1����	 ����������	 ���	 �������	 	������	 �� �$������� �� ��
�� !�	0��0!�	
�� �� ��������� �$�� 	��� �� 	���J��� �� ���1������� '� 1��� �?����� �� ���� �� ���
�� ���������
	�� �� 
���%�� �� �$�������� 
���	 1�!��� �� �� ���������� �����	 ��	 ������	 �(8�� 9$��� ����+
�� ���	�

����� �$�������� ��	 ���	 ���!�������	 � ��		�� �� ���@H���+ �� �$����� ����+ �� ����
�� ��������+ �����	 �$��!����� ��	 ������	 ��+ �	� ��!��� �� ��	 ����	 ���	 ��
�������1	� �$�	� ���	
�� �������� 
�� 	��!��� �$�������� �� 2�%���� �� �� �(8# 
�� �
��� �$������� �� ��
�� �� 	�
����������� �$�!������ ��	 ��������	 �� �� ��� ���
� ��	 ����%��	 ����������	�

9��	 �� ��������+ �� ���!����
��� ��������� �� �((� �� 
�������� �$��� ������+ ������
��
�����+ �$5Æ�� �����
������� �$��!�������� ��	 �%��� 	������6
��	 �� ���%������
��	 	� 	��0
	�		��� �� �� ��		��� 	��	� ��� ,���� �� 	�� �������+ �� =����
��� !��� �� ��� �� �� �����
 ��
�((� B��� '�������C 6����+ ���	 	�� ������� �+ ��� �������� �� 
���D� ��	 ������� ��
����� ��	
���!��� �� ���	 ���!��� �������� �� ���!���� �����
���	 �� ������	� 	�� ����	 ���	 �� ���%���%�
���������� �� ��	���� �� ����%��	 �� %���� ����!���� �� �� !�� ������ � 	����������S����	
�������+
	���J��� ��������
��+ �����������
��� �� �������	��� ��	 ����%��	� �� �����		���� �$�������� ��
�%�
� ��	 ������	 ���%��
��	 ��0����� �� 	���J��� ���1��� �	� ���� ��������+ �$��� ��������

������� ��� ����� ����

&�� ����	
������� � ��	 	!	�#�
�	  !�����	

�� ����	
������� ���	�	�� �� ���������� ��	 ����%��	 ���	 �� ��������� �� �� ��	 ����	1��
��
�� �����
���	 	�� ��	 �� �� ��
�	 �� !�� ������ ��� ��	 ���������	 �� ������� �� �� 6		��� B����
��	 ��������	C �������	 ��� �� <�� �� �������	 �%��
�
�� �� ������ �� ���������� ��	 �����
���	
�� ����	
���� �� ��������� 	��� �� ��������
+ ��	 ��������	 
�����	 �� ��	 �������	 �� 6		��� ��
!�� ������� ���	
�� �$�� ���!�
�� �� 6		��� ��	 ��������	+ �� ����� ����	 ����@�� �$��������������
�$� ?����1 �	� �� ��
���� �� �������������� ����������� �� �� ��!���+ 	���� ����	 ����%� �� �����
�� �$������
 ������� B���	������� ��

� &��
�		� ��&C+ �� 
���	 ��� 
�� �� !���
� ��	 ����%��	
�� 	���J�� �� ����%�	 ��������
��	 ���1����	 �� ��	 ��!��������	 ���������	 	�� �$��!������
���
	����� ����	 	����6����!�
��� ��
�����	�

=��� ����	
���� ��	 ����%��	 ���	����	 !���	 	��� ��		� ��	 ��

� �$�����	����� ��	 ���������	
�� ��� 	��	 ���		��� ���	����	+ 
�������� �� �����%�		�
��� 	������
������� �� ��
 �	�� ��+
�� ��	 ���������	 �� �������	 ������	 
�� 	��� ���	 1�!��� ��	 �� ����� �� !�� ��	 �������	




	" ����������� � �� #������ � ������ ���� �� ������� &�'����

��	���� ��	 
�� ���!��� @���� �����	��	 ���� ���������� ��	 ��������	� 7�� ����� !��� ��		� ��
�	� �$�����	�� ��	 �������	 	������ �$��� ��������� �� 	��������� ���	 �� 	�	���
� %� ����
��������������0��������� B��		� ������� 3���������� 6����
 0����� 360C� �� �������� �� ��	
	�	���
�	 �	� �� 	��!��� � �� 1��	���� �� ������	 �� %���� �����	����+ ����� ��� �������� ��
�$����� �� � :��+ ������� ��	 �������	 �� 	��������� ���	 ��� �� �� ������ B��!���� �"0��
�������	 ���	 ��� �� �� �� ���
 �$�������� ��
���	� ����� � �� �� ��� ����������
���C� ��	
�������	+ �����	 �!��� ����� ���	 �� 
���	 
�������	+ ��>�	��� ��	���� ���	 �� ��������� 	��	0
�����
�� ��������� �� �� �� ��� 	� ����!��� ��	 ����%��	 �� ����	
����� �� 	�	���
� ������� ��
�$�������� ���� ��� ������ 	��� �� ���
����� �$�������������� 7� 	�%��
� �	� 
������ 	�� �� 6����
"�� �

�� ��
�� ��
�
�
�
�
�
�
�
�

�
�
�
�
�� ��
��

�
�
�
�
�
�
�
� �� �
�
�
�
�
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�
��
�� ��
��

�
�
�
�
�
�
�
�
��
�
�
�
�
�
�
�
�

�� �� �� ��
�� �� ��
�� ���� �
�
�
�
�
�
�
�
�� ��

�
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�
�� ��

����
�� �� �� ��

�� ��
�� ���� ��
�� �� �� ��

�� ��

�� �� �
�
�
�
�
�
�
�
�� ��
��
�� ��

�
�
�
�
�
�
�
�
�
�
�
���
�� ��

�
�
�
�
�
�
�
�
�� ��
�
�
�
�
�� ��

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
��
�� ��

�
�
�
�
�
�
�
�
�
�
�
�

�� ��

��
�� �
�
�
�
�
�
�
�
�� ����

�� �
�
�
�
�
�
�
�

�� ��
�
�
�
�
�� ��

�
�
�
�
�
�
�
�
�� ��
�� ��

�� ��

�
�
�
�
�
�
�
���

�
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�

�� ��

�� ��
��
�� ��
�� ����
�� ��
�
�
�
�
�
�
�
� �� ��
��
��

�� ��
�� ��
�
�
�
�

�
�
�
�
�
�
�
�

�� �� �� ��
��
�� ��

��

�
�
�
�
�
�
�
�

�� �� �
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�

�� �� ��

�� ��
��

�
�
�
�
�
�
�
�

�
�
�
��� ��
�
�
�
�
�
�
�
�

�
�
�
�
�
�
�
�

�� �� ��

�� ��

�� ��

�
�
�
�
�
�
�
�

�� �� �� ��
�� ��
�� ��

��
��
��
��

��
��
��
��

��
��
��
��

��
��
��

��
��
��

�
�
�

�
�
�

����
����
����
����
����

����
����
����
����
����

����

�
�
�
�

��

��
��
��
��

��
��
��
��

�
�
�
�

��
��
��
��

�
�
�
�

�� ��
��

����

��
��
��
����

��
��
����

��
��
��

���� ��
��
��
��

�
�
�
� �

�
�
�

����
����

���
���
���
���
���
���

���
���
���
���
���
���

���
���
���
���
���

���
���
���
���
���

��
��
��
��

��
��
��
��

��
��
��
��

��
��
��
��

��
��
��
��

��
��
��
��

��
��
��
��

�
�
�

�
�
�

�
�
�
�

�
�
�
�

�
�
�

�
�
�

�
�
�
�

�
�
�
�

�
�
�
�

�
�
�
�

��
��
��

��
��
��

��

�
�
�

�
�
�

�
�
�
�

�
�
�

�
�
�

��
��
��

��
��
��

�
�
�
�

����

��
��
��

��
��
��

��
��
��
��

�
�
�
�

Protons  1 GeV

Accélérateur

10-100 mA

cible de spallation

fission

Réacteur sous-critique

neutrons

transmutation
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